

Terraced House in Naxxar



Naxxar, Central



€699,000

Reference No: 240061191-220

 Total Rooms: **9**

 Floor Area (m²) : **148**

 Bathrooms: **2**

 Bedrooms: **3**

Terraced House - For Sale - Naxxar

NAXXAR - TERRACED HOUSE - This rare opportunity house with a back garden is located in a quiet residential area. It consists of a Living room, guest Toilet, Kitchen/Dining area, a back Garden, 3 Bedrooms (all with AC units), a main bathroom, a Laundry, and full roof, and Airspace. Solar Panels installed. Call your preferred associate now for information or viewings.

Features

- ✓ Kitchen/Dinette
- ✓ Water Utility
- ✓ Gypsum Plastering
- ✓ A/C
- ✓ Yard
- ✓ Balcony
- ✓ Solar Panels
- ✓ Ceramic Floor
- ✓ Electricity Utility
- ✓ PVC Piping
- ✓ Skirting
- ✓ Air Space
- ✓ Roof Terrace

Rooms

- ✓ Kitchen/Dining : 6.2 x 3 m (18.6 m²)
- ✓ Sitting : 4.4 x 3.9 m (17.16 m²)
- ✓ Double Bedroom : 4.4 x 3.8 m (16.72 m²)
- ✓ Double Bedroom : 3 x 2.9 m (8.7 m²)
- ✓ Double Bedroom : 3.9 x 3.1 m (12.09 m²)
- ✓ Box Room : 1.4 x 0.9 m (1.26 m²)
- ✓ Laundry : 4.4 x 3.1 m (13.64 m²)
- ✓ Hallway : 5.4 x 2.2 m (11.88 m²)
- ✓ Landing : 4.3 x 1 m (4.3 m²)
- ✓ Bathroom : 2.57 x 2.1 m (5.4 m²)
- ✓ Guest Toilet : 1.94 x 1.19 m (2.31 m²)

✓ Open Space : 2.41 x 1.17 m (2.82 m²)

✓ Open Space : 6.2 x 5.4 m (33.48 m²)

Gallery







Jayden Lautier

RE/MAX Superior - Fgura

M: 77775176

E: jayden@remax.com.mt

T: 23910000

RE/MAX Superior - Fgura

368, Zabbar Road, Fgura, Malta